Prénom : ………………………………….                    Date : …………

                                                            Du – Du

Calcule bien !   

52 – 18 =  …..                                            36 – 25 =  …..

75 – 64 =  …..                                            52 – 44 =  …..

91 – 36 =  …..                                            92 – 71 =  …..

32 – 12 =  …..                                            81 – 59 =  …..

64 – 28 =  …..                                            37 – 28 =  …..

41 – 15 =  …..                                            78 – 27 =  …..

93 – 69 =  …..                                            45 – 21 =  …..

74 – 38 =  …..                                            63 – 49 =  …..

44 – 17 =  …..                                            81 – 28 =  …..

65 – 35 =  …..                                            24 – 15 =  …..

	61 – 33 = …..
	95 – 68 = …..
	82 - ….. = 43
	35 - ….. = 14

	91 – 32 = …..
	64 – 26 = …..
	55 - ….. = 26
	42 - ….. = 12

	83 – 55 = …..
	55 – 39 = …..
	91 - ….. = 64
	73 - ….. = 24

	54 – 29 = …..
	71 – 61 = …..
	65 - ….. = 37
	86 - ….. = 61

	71 – 43 = …..
	42 – 17 = …..
	92 - ….. = 65
	52 - ….. = 34


